Borough of Fair Lawn



July 23, 2024

RESOLUTION NO. 249-2024

RESOLUTION REJECTING BID RECEIVED FROM FERGUSON WATERWORKS ON JULY 17, 2024 FOR PURCHASE OF DUCTILE IRON PIPE, FITTINGS AND VALVES

WHEREAS, in accordance with the Local Public Contracts Law, <u>N.J.S.A.</u> 40A:11-1 <u>et seq.</u>, bid specifications were publicly advertised and issued for the "Purchase of Ductile Iron Pipe, Fittings and Valves" on June 20, 2024; and

WHEREAS, one (1) bid was received by the Municipal Clerk on July 17, 2024 from Ferguson Waterworks, 507 Oak Glen Road, Howell, New Jersey, 07731, as set forth on Exhibit A, attached hereto; and

WHEREAS, the sole bid received was referred to the Borough Manager and appropriate Department Head for consideration and recommendation; and

WHEREAS, the bid specifications required that "[b]idders must submit a complete bid, including unit prices for all items, for consideration of award;" and

WHEREAS, it was determined that Ferguson Waterworks' bid was incomplete and thus non-responsive because it failed to provide pricing for 3-inch Check Valves, 4-inch Check Valves, 6-inch Check Valves, 8-inch Check Valves and 12-inch Check Valves, labeled as Bid Item Numbers 87 through 91, respectfully,

NOW, THEREFORE, BE IT RESOLVED by the Mayor and Council of the Borough of Fair Lawn that, upon recommendation of the Borough Manager and appropriate Department Head and pursuant to N.J.S.A. 40A:11-13.2(b), the bid received is hereby rejected; and

BE IT FURTHER RESOLVED that the Borough Clerk is hereby authorized to return the bid security to Ferguson Waterworks; and

BE IT FURTHER RESOLVED that the Borough Clerk is authorized to publically advertise to rebid for the "Purchase of Ductile Iron Pipe, Fittings and Valves."

	Motion	Second	Aye	Nay	Abstain	Absent
Salinas						Х
Krause	Х		Х			
Reinitz		X	Х			
Cutrone			Х			
Rottenstrich			Х			

The within Resolution was duly adopted by the Borough Council at their meeting of July 23, 2024.

Nicholas J. Magarelli, RMC

Municipal Clerk

EXHIBIT A

SECTION VIII. BID FORMS

NAME OF BIDDER: Ferguson Waterworks

Page **2** of **14**

FORM A: BIDDERS CHECKLIST

Items 1 through 16 are the forms or documents, as the case may be, that must be completed and/or provided with bidder's bid.					
BIDDER MUST INITIAL EACH ENTRY AND SIGN AND DATE THIS FORM.					
	Bidder's Initials				
1. Bidder's Checklist (Form A)	A				
2. **Bid Sheets (Form B)	h				
3. **Bid Security: Certified or Cashier's Check or Bid Bond (See Form C)	Dr				
4. RESERVED (Form D)	N/A				
5. **Ownership Disclosure Certification (Form E)	A				
6. Non-Collusion Affidavit (Form F)	A				
7. ** Acknowledgment of Receipt of Addenda to Bid Documents (Form G)	M				
8. RESERVED (Form H)	N/A				
9. Americans with Disability Act Language (Form I)	A				
10. Affidavit Regarding List of Debarred, Suspended or Disqualified Bidders (Form J)	N				
11. Certificate of Insurance Statement (Form K)	1				
12. RESERVED (Form L)	N/A				
13. Disclosure of Investment Activities in Iran (Form M)	Dr				
 Certification of Non-Involvement in Prohibited Activities in Russia and Belarus Pursuant to P.L. 2022, c.3 (Form N) 	<u> Oh</u>				
15. Business Registration Certificate for contractor and subcontractors must be submitted prior to award of contract by the Borough (Form O)	A				
16. Affirmative Action Compliance (Form P)	DN				

[Continued on next page]

20

** Failure to submit any of the starred (**) items at the time of bid submission will result in MANDATORY rejection of the bid; failure to submit any such items cannot be cured. Failure to submit any of the un-starred items at the time of bid submission may result in rejection of the bid.

The undersigned hereby acknowledges the above-listed requirements.

Signature of Person Authorized to Sign for Bidder

Municipal Outside Sales

Title

Date:

NAME OF BIDDER:

FORM B: BID SHEET

NAME OF BIDDER:

Ferguson Waterworks

TO: The Borough of Fair Lawn

FOR: Ductile Iron Pipe, Fittings and Valves

In compliance with the Request for Bids, the undersigned, having examined the site of the work, proposes to furnish all labor, equipment, material and services necessary, and to complete all work promptly and as specified and delineated in the bid specifications, for the price per unit of measure for each item of work in the following "SCHEDULE OF PRICES:" (Quantities listed on bid sheet are estimates only and do not commit the Borough to purchase more or less than the estimated amount. Quantities listed are for comparison of bids only).

Item	Description	Unit	Unit Price Numbers	Total Price Numbers
1	6" D.I.P. Class 52	100 LF	\$28.01	\$2,801.00
2	8" D.I.P. Class 52	100 LF	\$39.53	\$3,953.00
3	12" D.I.P. Class 52	100 LF	\$65.24	\$6,524.00
4	16" D.I.P. Class 52	60 LF	\$94.41	\$5,664.60
4Λ	3" D.I.P. Class 52	40 LF	\$66.15	\$2,646.00
4B	4" D.I.P. Class 52	40 LF	\$36.46	\$1,458.40
5	6"x6"x6" Tees	4 Unit	\$213,39	\$853.56
6	6" 90° Bends	4 Unit	\$148.61	\$594.44

7	(II 450 D - 1	T 4		
	6" 45º Bends	4 Unit	\$121.94	\$487.76
8	6" 221/2º Bends	4 Units	\$111.27	\$445.08
9	6" 111/4º Bends	2 Unit	\$115.08	\$230.16
10	6" Run/6" Branch Crosses	2 Unit	\$399.34	\$798.68
. 11	8"x8"x8" Tees	2 Unit	\$316.27	\$632.54
12	8" 90º Bends	4 Unit	\$215.68	\$862.72
13	8" 45° Bends	4 Unit	\$172.24	\$688.96
14	8" 221/2º Bends	2 Unit	\$169.19	\$338.38
15	6" Diameter Couplings	6 Unit	\$86.16	\$516.96
16	8" Diameter Couplings	5 Unit	\$113.26	\$566.30
17	10" Diameter Couplings	2 Units	\$191.06	\$382.12
18	12" Diameter Couplings	4 Unit	\$240.42	\$961.68
19	16" Diameter Couplings	2 Unit	\$431.00	\$862.00
20	Gate Valves 4" Dia.	4 Unit	\$833.66	\$3,334.64

21	C . 17.1 (II D:			
21	Gate Valves 6" Dia.	4 Unit	\$1,063.34	\$4,253.36
22	Gate Valves 8" Dia.	4 Unit	\$1,693.55	\$6,774.20
23	Gate Valves 12" Dia.	4 Unit	\$3,341.28	\$13,365.12
24A	16" Butterfly Valves	4 Unit	\$4,182.77	\$16,731.08
24B	12" Butterfly Valves	2 Unit	\$2,148.51	\$4,297.02
24C	10" Butterfly Valves	2 Unit	\$1,793.62	\$3,587.24
24D	8" Butterfly Valves	2 Unit	\$1,300.85	\$2,601.70
24E	6" Butterfly Valves	2 Unit	\$1,015.53	\$2,031.06
24F	4" Butterfly Valves	2 Unit	\$986.17	\$1,972.34
24G	3" Butterfly Valves	2 Unit	\$977.24	\$1,954.48
25	Valve Boxes	16 Unit	\$269.14	\$4,306.24
26	MJ Compact Ductile Iron Sleeves 6" x 12"	4 Unit	\$130.32	\$521.28

			,	
27	MJ Compact Ductile Iron Sleeves 8" x 12"	4 Unit	\$169.19	\$676.76
28	MJ Compact Ductile Iron Sleeves 12" x 12"	4 Unit	\$340.66	\$1,362.64
29	Retainer Glands w/accessories (megalug) 6"	4 Unit	\$53.22	\$212.88
30	Retainer Glands w/accessories (megalug) 8"	4 Unit	\$71.06	\$284.24
31	Retainer Glands w/accessories (megalug) 12"	4 Unit	\$134.15	\$536.60
32	Copper Pipe Type K ¾" Dia.	300 L.F	\$6.45	\$1,935.00
33	Copper Pipe Type K 1" Dia.	100 L.F.	\$8.55	\$855.00
34	Curb Stops ¾"	12 Unit	\$98.40	\$1,180.80
35	Curb Stops 1"	6 Unit	\$162.65	\$975.90
36	Curb Stops 1 1/2"	6 Unit	\$341.97	\$2,051.82
37	Corporation Stops ¾"	12 Unit	\$48.28	\$579.36
38	Corporation Stops 1"	6 Unit	\$72.80	\$436.80

-				
39	Corporation Stops 1 ½"	6 Unit	\$213.22	\$1,279.32
40	Curb Boxes - 48" Extended	10 Unit	\$85.64	\$856.40
41	2 Hole Curb Box Lids	10 Unit	\$16.50	\$165.00
42	Compression Unions ¾"	20 Unit	\$26.86	\$537.20
43	Compression Unions 1"	10 Unit	\$29.30	\$293.00
44	Compression Unions 1 1/2"	10 Unit	\$103.30	\$1,033.00
45	Repair Clamps 4" x 7 ½"	4 Unit	\$65.21	\$260.84
46	Repair Clamps 4" x 15"	4 Unit	\$132.53	\$530.12
47	Repair Clamps 6" x 7 1/2"	8 Unit	\$77.26	\$618.08
48	Repair Clamps 6" x 12 ½"	8 Unit	\$109.74	\$877.92
49	Repair Clamps 6" x 15"	6 Unit	\$155.42	\$932.52
50	Repair Clamps 6" x 20"	4 Unit	\$181.47	\$725.88

<u></u>	D : 61			
51	Repair Clamps 6" x 25"	2 Unit	\$210.42	\$420.84
52	Repair Clamps 6" x 30"	2 Unit	\$318.48	\$636.96
53	Repair Clamps 8" x 7 1/2"	4 Unit	\$89.21	\$356.84
54	Repair Clamps 8" x 12 1/2"	4 Unit	\$131.53	\$526.12
55	Repair Clamps 8" x 15"	4 Unit	\$186.16	\$744.64
56	Repair Clamps 8" x 25"	6 Unit	\$232.74	\$1,396.44
57	Repair Clamps 8" x 30"	2 Unit	\$352.63	\$705.26
58	Repair Clamps 10" x 12-1/2"	2 Unit	\$140.32	\$280.64
59	Repair Clamps 12" x 12"	2 Unit	\$144.58	\$289.16
60	Repair Clamps 12" x 16"	2 Unit	\$217.00	\$434.00
61	Repair Clamps 12" x 24"	2 Unit	\$259.63	\$519.26
62	Repair Clamps 12" x 30"	4 Unit	\$385.21	\$1,540.84

63	Camring Coddl (22 3/2)			
	Service Saddles 6" x 1/4"	2 Unit	\$45.79	\$91.58
64	Service Saddles 6" x 1"	2 Unit	\$45.79	\$91.58
65	Service Saddles 8" x ¾"	6 Unit	\$49.16	\$294.96
66	Service Saddles 8" x 1"	6 Unit	\$49.16	\$294.96
67	Service Saddles 12" x ¾"	6 Unit	\$75.16	\$450.96
68	Service Saddles 12" x 1"	6 Unit	\$75.16	\$450.96
69	1" Valve Box Riser Adapter	4 Unit	\$11.82	\$47.28
70	1 -1/2" Valve Box Riser Adapter	2 Unit	\$16.23	\$32.46
71	2" Valve Box Riser Adapter	12 Unit	\$17.96	\$215.52
72	3/4" Compression Couplings	10 Unit	\$26.86	\$268.60
73	3/4 " Curb Stops (T-Stops)	6 Unit	\$106.27	\$637.62
74	¾" Compression Tees	15 Unit	\$66.68	\$1,000.20

	T			7
75	3" Valve Box Riser Adapter	6 Unit	\$31.94	\$191.64
76	Valve Box Lid	12 Unit	\$19.25	\$231.00
77	Retainer Glands w/accessories (megalug) 16"	2 Unit	\$225.56	\$451.12
78	MJ Compact Ductile Iron Sleeves 10" x 12"	2 Unit	\$252.26	\$504.52
79	Full circle Repair clamps tapped 6" dia.	2 Unit	\$137.06	\$274.12
80	Full circle Repair clamps tapped 8" dia.	2 Unit	\$153.53	\$307.06
81	Full circle Repair clamps tapped 12" dia.	2 Unit	\$172.53	\$345.06
82	Repair Couplings 6" día.	2 Unit	\$288.08	\$576.16
83	Repair Couplings 8" dia.	2 Unit	\$325.24	\$650.48
84	Repair Couplings 10" dia.	2 Unit	\$418.41	\$836.82
85	Repair Couplings 12" dia.	2 Unit	\$493.85	\$987.70
86	Repair Couplings 16" dia.	2 Unit	\$1,352.65	\$2,705.30

87	3" Check Valves	2 Unit		NO BID
88	4" Check Valves	2 Unit		NO BID
89	6" Check Valves	2 Unit		NO BID
90	8" Check Valves	2 Unit		NO BID
91	12" Check Valves	2 Unit		NO BID
92	7/8 " x 4" Galvanized G8 bolts with nuts	50 Unit	\$3.50	\$175.00
93	3/4 " x 3-1/2" Galvanized G8 bolts with nuts	50 Unit	\$3.00	\$150.00
94	10" D.I.P. Class 52	100 LF	\$51.81	\$5,181.00
	TOTAL OF ITEMS 1-94 Written in Numbers			\$142,489.84
	TOTAL OF ITEMS 1-94 Written in Words	One Hund and Eight	dred Forty Two Th y Four Cents	ousand Four Hundred Eighty Nine Dollars

ALL PRICES INCLUDE DELIVERY
The Borough of Fair Lawn reserves the right to correct errors in calculation.
Unit prices posted will prevail.

30

The undersigned, acting through its authorized officers and intending to be legally bound, agrees that this bid shall constitute an offer by the undersigned to enter into a contract as provided in the bid specifications, which offer shall be irrevocable for sixty (60) calendar days from the date of opening of the bids, and that the Borough may accept this offer at any time during said period by notifying the undersigned of the acceptance of said offer.

IF A CORPORATION:	NAME OF BIDDER
	Ferguson Waterworks
	Address: 507 Oak Glen Road, Howell NJ 07731
Signature of Corporate Secretary	By: Tivetty That Signature of Authorized Representative
TIMOTHY TROUT Print Name of Corporate Secretary	Timothy Trout
	Print Name of Authorized Representative
[Corporate Scall	Title: Municipal Sales Manager
Zaran Maria	Fax 732-202-5707
	E-Mail_tim.trout@ferguson.com
\$ 12,5	Phone: 732-901-4792
Z Comment of the second	Mobile: 215-353-3111
The state of the s	
4444	资政政治政治的政治政治政治政治政治
IF A PARTNERSHIP:	NAME OF BIDDER
	Address:
	Address.
Sworn to and Subscribed	
before me this 13 day of 2034 .	By: Signature of Partner
	Fax:
A Notary Public of NEW Jefsey	E-Mail:
My Commission Expires:	Phone:
AMANDA LANDOLFI	
Commission # 0050201037 Notary Public, State of New Jers	Mobile:
My Commission Expires July 18, 2027	
	 J

IF SOLE PROPRIETOR:	NAME OF BIDDER
	Address:
Sworn to and Subscribe before me this day of 20	By:Signature of Owner
	Fax:
A Notary Public of	E-Mail
My Commission Expires:	Phone:Mobile:
	南南南南南南南南南南南南南南南南南
IF A TRADE NAME:	NAME OF BIDDER
	Address:
Sworn to and Subscribed before me this day of	By:Signature of Owner
A Notary Public of	Fax: E-Mail:
My Commission Expires:	Phone:
	Mobile: